[ pyrinunpoBKa

1) X3 + x"2 —4x —4 =0
(XN3-4x) + (x"2-4)= 0
X(xN2-4) + (x-2)(x+2) =0
X(x-2)(x+2) + (x-2)(x+2) =0
(x-2)(x+2)[x+1] =0

mim x-2 =0 x=2

min x+2=0 x=-2

minm x+1=0 x=-1

2) IXN3 + 5x"N2 +5x+3=0
(3XN3+3) + (5x~2+5x) =0
3(x"3+1) + 5x(x+1)=0
3(x+1)(x"2+x+1) + 5x(x+1)=0
(xX+1)[3(x 2+x+1)+5x]=0
xX+1=0 xX=-1
3XN2+3x+3+5x =0
IXN2+8x+3=0

D1 =16-9 =7/

x1=(-4-V7)/3

x2=(-4+V7)/3

3) XN + 2x"3 —x — 2 =
(xN4-x) + (2x"N3-2)=0
X(XN3-1)+2(x"3-1)=0
(x+2)(x"3-1)=0

xX+2=0 X=-2

XN3-1=0 x=1

4) X3 — x"2 — 81x + 81 =0
(X3 — xN2) — (81x-81) =0
x"N2(x-1)-81(x-1)=0
(x"N2-81)(x-1)=0
(x-9)(x+9)(x-1)=0

x=9,;-9;1.

5) xX"3 + 3x"N"2 — 16x — 48 =0
(XN3-16x)+(3x"N2-48)=0
X(xN2-16)+3(x"N2-16)=0
(x+3)(x-4)(x+4)=0

xX=-3,4,-4.

6) 2x"N +3x"3 + 16x + 24 =0
(2xN4+16x) + (3xN3+24)=0
2X(XN3+8)+3(xN3+8)=0
(XN3+8)(2x+3)=0
(X+2)(xN2-2x+4)(2x+3)=0
xX+2=0 X=-2

2x+3=0 x=-1,5
XN2-2x+4=0

D2=1-4 pelwieHnn HET

/) 24x"4 + 16x"3 —3x —2 =0
(24x"N4-3x) + (16x"N3-2)=0
3x(8xN3-1) + 2(8x"3-1)=0
(8x"N3-1)(3x+2)=0
(2x-1)(4x"N2 + 2x + 1)(3x+2)=0
2x-1=0 X=%2

3x+2=0 X=-%
AXN2+2x+1=0

D2=1-4 pelwieHnn HeET

8) X3 + 5x"2 + 15x + 27 =0
(XN3+27)+(5xN2+15x)=0
(X+3)(x"2-3x+9)+5x(x+3)=0
(x+3)(xN2-3x+9+5x)=0
xX+3=0 X=-3

XN24+2x+9=0

peLleHum HeT

ar3+b3=(a+b)(a’2-ab+b"2)
a’2-ab+b"2=0 |:b"2

(a/b)*2 - (a/b) + 1=0
a/b=t

th"2-t+1=0 t1,12
D=1-4<0
th2-t+1=(t-t1)(t-t2)

9) 8XN3 —6X"2 +3x —1=0
(8XxN3-1)-(6x"N2-3x)=0
(2x-1)(4x"2+2x+1)-3x(2x-1)=0
(2x-1)(4x"2+2x+1-3x)=0
2x-1=0 xX=1>
IxN2-x+1=0

PeLueHun HeT

a2+b"2

ar2+b"2=0 |:b"2

(a/b)*2 + 1=0
a/b=t

t"2+1=0 1,12
th2-t+1=(t-t1)(t-t2)



